
𝟐
𝟏

𝟐

 

 

 lim
𝑥→1+

(
𝑥

𝑥 − 1
−

1

ln 𝑥
)

 lim
𝑥→∞

(𝑒𝑥 + 𝑥)
1/𝑥

 

 ∫
√9 − 𝑥2

𝑥2
𝑑𝑥

 ∫ sin3 𝑥 cos2 𝑥
𝜋/2

0

𝑑𝑥

 ∫
𝑥2 − 𝑥 + 6

𝑥3 + 3𝑥
𝑑𝑥

 ∫
𝑑𝑥

𝑥 ln 𝑥

∞

2

 ∫  
ln 𝑥

√𝑥

1

0

𝑑𝑥

 

 ∑  
2

2𝑛+1

5𝑛

∞

𝑛=1

 ∑[tan−1(𝑛 + 1) − tan−1(𝑛)]

∞

𝑛=1

 1 − ln 2 +
(ln 2)2

2!
−

(ln 2)3

3!
+ ⋯

 𝑓(𝑥) = ln(1 + 𝑥)

tan−1 𝑥 = 𝑥 −
𝑥3

3
+

𝑥5

5
−

𝑥7

7
+ ⋯      for |𝑥| < 1

∫ 𝑥2 tan−1 𝑥 𝑑𝑥

∑
(−1)𝑛

(2𝑛 + 1) ∙ 3𝑛

∞

𝑛=0

=
𝜋

2√3



 

 

 

 ∑
2 ∙ 4 ∙ 6 ∙ … ∙ (2𝑛)

𝑛!

∞

𝑛=1

 ∑
𝑛2𝑛

(1 + 2𝑛2)𝑛

∞

𝑛=1

 

 ∑(−1)𝑛−1

∞

𝑛=1

 
𝑛

𝑛2 + 4

 ∑
(−1)𝑛 tan−1 𝑛

𝑛2

∞

𝑛=1

 T3(𝑥) 𝑓(𝑥) = ln(1 + 2𝑥) 𝑎 = 1

𝑇3(𝑥) 𝑓(𝑥) 0.5 ≤ 𝑥 ≤ 1.5

∑
(−1)𝑛(𝑥 − 3)𝑛

2𝑛 + 1

∞

𝑛=0


